Question Paper Preview

Question Paper Name: Civil Engineering
Subject Name: Civil Engineering
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Number of Questions: 50
Display Number Panel: Yes
Group All Questions: NoO

Question Number : 1 Question Id : 6780944604 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B are 20 and -& then the trace of (A+B}is

Options :

12
-~
- 28

28

[

Question Number : 2 Question Id : 6780944605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¢ 1]
10

It 4= s an Invoiutory matrix then x=

Options :
1 0
y =i
. —~1
d, -

Question Number : 3 Question Id : 6780944606 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The determinant of |loge® lozes logs | is

o
|l o log e

Options :

3

-
—

Hoge

L

Slog e

Question Number : 4 Question Id : 6780944607 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1T 4

-2 1 3| then detiwdid =

D1 2
Options :
1 det A

1
_det 47

—dlatr 4

!—'J

([ det A )'

Question Number : 5 Question Id : 6780944608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
: AL

;U

Question Number : 6 Question Id : 6780944609 Display Question Number : Yes Single Line Question (dntion : Nn Ontion

Orientation : Vertical
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If

Options :
3.

1.

.

2

5

Question Number : 7 Question Id : 6780944610 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR k. 1 .
| = | theh «:b=
(y—aldxy—86) a—a x-=9D

If

Options :
_
=2

R |

12
3.

Aol
4

Question Number : § Question Id : 6780944611 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ran&357 =

Options :
1

i

—.

I

J2

Question Number : 9 Question Id : 6780944612 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 il ) %
1T taner = and tan & = then ranle+ 1=

e REIFETY

Options :
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Question Number : 10 Question Id : 6780944613 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of Guin 209 —=8«gin™ T0% =

Options :
1. 2
i
NG
NE
3.
|
&
4

Question Number : 11 Question Id : 6780944614 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If Aei@4+dcosf =5 then the value of 4sm & -3¢0z 8=

Options :

U
-

3. ]
2

Question Number : 12 Question Id : 6780944615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 is

Options :
)
SIE

1. 5
. A
SEET

;)

. ;
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Question Number : 13 Question Id : 6780944616 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin= = Scea- v S

Options :
a!

1.

. 3

v O

.

, 34

Question Number : 14 Question Id : 6780944617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The eguation J3snx+cosy=4 has

Options :
1_ Qnly one solution
~ two solutions

. Infinite solutions
, no solution

Question Number : 15 Question Id : 6780944618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: ) _ _ _ L.
The solution of Cos™ (31 )+Cos o =2 is

Options :
|
-
1.
1
v
1
-
3.
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Question Number : 16 Question Id : 6780944619 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin&+sunf +120%) —sh1120° - &)1 =

Options :
1. D
SIEE

'I

I

— 111 7

Question Number : 17 Question Id : 6780944620 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of 3 osecA =451mA 13

Options :
1.
T ;
i

mN
: 4
a.

+i7
4.

Question Number : 18 Question Id : 6780944621 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=

: 1 . .
If |-- —1 =\:‘ + 1. then z lies in

Options :
1 The real axis
3 clicle

The Imaginary axis

Lo

a parabola
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Question Number : 19 Question Id : 6780944622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1477 (1= .
If \ — o +{5. then & an b are
. ] —7

SESN

"mm pm, =

Options :

K
2,-2

% {.-2
0.-1
1,

Question Number : 20 Question Id : 6780944623 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If the line +=2v+ris atangentic +~ — -~ =< then the value of ¢ is

Options :

y 2

L

L

3
=
5

Question Number : 21 Question Id : 6780944624 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0is

Options :
[—. 1)

1.

04—

) —4.—1]
W)

4

Question Number : 22 Question Id : 6780944625 Display Question Number : Yes Single Line Question Option : No Option

Orilentation : Vertical
The number of tangents to the ellipse : : '1: =1 through (2.1} 1s

Options :

. O
@collegedunias
India’s largest Student Review Platform

i



L

Question Number : 23 Question Id : 6780944626 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The fength of the latus rectum of the hvperboia »- — 2y =4 s

Options :
, 2
O
3. 4
. <

Question Number : 24 Question Id : 6780944627 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the ditameter of the circle ¥ "-_Tj —Gr—81 =0 Ii5

Options :
.10
5 10
5 9
, 20

Question Number : 25 Question Id : 6780944628 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the line 21 =%y +/ touches the parabola - =6+ then k=

Options :

SER

r_;_.l_l__

L
|

| S

4.
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Question Number : 26 Question Id : 6780944629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[r113 =
I— e 3 —

Options :

]
-

gy £
g

Question Number : 27 Question Id : 6780944630 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If Ffixvi=il+=x1% is continucus ai v=10 then =

Options :
2
1 °
.
- &£
{Jj
30
1
4 £

Question Number : 28 Question Id : 6780944631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

()
If v =agsecH v=htrand then — =
Ty
Options :
£
— e G
[
£
—oosec &
5 i)
¥
— 20 7
£
2.
%
cosec
Iy
4.
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Question Number : 29 Question Id : 6780944632 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ey

. o i
If v =¢" then — =

)
Options :
logx
1 1+ 1loex)”
log
o -logx)
—log x
. - o
il+logx)-
]
—1
.
) (1+lozx)-

Question Number : 30 Question Id : 6780944633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f +=sin "

Options :

-
1+ 3~
1.
|
L+
B,
ﬁ 143
.
a5
[ + 47
g

Question Number : 31 Question Id : 6780944634 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
The slope of the normal to the curve y=asecf. v=gtand at #=— I8
3

&
@collegedunlas
India’s largest Student Review Platform

i

Options :



1.

0
1L

L

Question Number : 32 Question Id : 6780944635 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of a circle with respeact to radius when r=5¢m Is

Options :
27 sg.omisec

107 sg.cmisec

1T sg.emisec
£

2Uxr sg.emisec
4.

Question Number : 33 Question Id : 6780944636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vihich of the following function has maxima or minima®?

Options :

I. n
l..
L

1.

low

L=
—
1

Gt a4

S31% 8
4

Question Number : 34 Question Id : 6780944637 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if the Increase In the side of a square 1s 2% then the approximate
nercentage Increase in the area of the square Is

Options :

| 2

-
1

e

4
b
-

4
&
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Question Number : 35 Question Id : 6780944638 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
& 7

For the function #i{x)=log’>" + 73 which of the folowing is true?

Options :
T =
ot £ =0
1.
?t.‘{_’- ) "TJ:' = {}

e

¢ ﬂ‘ - f o 2

Question Number : 36 Question Id : 6780944639 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| cosac” Beot 846 =

Options :
cot” 6
“1
1. =
—coseg” @
. 5
cosec” @
3 3
—cosec’ &
=3 ¢

Question Number : 37 Question Id : 6780944640 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R .-
* oy
: —
s A=
Options :
™
loe —
1 R
4
log —
A

L3
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x
log —
3. i
E
log —
1
1

Question Number : 38 Question Id : 6780944641 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

£
r I"||.'
If ¢t - 05 then |_‘f~,{1-:

o

Options :

| b—a

B, i —1

s 4D

, U

Question Number : 39 Question Id : 6780944642 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1

&

-1
YAt ATy =

[
Options :
e 1
S
1.
T 1
5 =
s | [
102
3.
T o1
- I '.:I
4 > B

Question Number : 40 Question Id : 6780944643 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
it a
15 < | .
1181 [/, —¢' =
N—si =1 7

Options :

1. ¢
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i1+ et

n
1—e)
3
(e —10
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Question Number : 41 Question Id : 6780944644 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

74
] 5
| sec” vdv =
)
Options :
!
1
28
S
RS-
=
3. 12
]
E
4. 7

Question Number : 42 Question Id : 6780944645 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=Ilogx. x-axis and the straight line

y—¢ =18 sguare units
Options :
1. €
. fe—1)
.
.
11—
4 %

Question Number : 43 Question Id : 6780944646 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating ohe arch of the curve
1= 5indy about the X-axls 15----

Options :

"

.-T_
1
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Question Number : 44 Question Id : 6780944647 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

=3

s 1
—— =5 —
| i A
T

.-:. - [}
A
HTT

=
S
A
IR A N TR
|—7- TI'; +
L e L !

1 =cv—c7 |5 the general solution of tne differential equation

-

- b

Question Number : 45 Question Id : 6780944648 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :
T=31re
1.
1= a4
A=+
3.

The general solution of the differential equation

~

i
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Question Number : 46 Question Id : 6780944649 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the family of curves v = a0
where g and o are arbitrary constants. Is

Options :
(f (71
A
T <Ay
.
(- M
1 — = {}
- l.!;lj-"f; (4
- T i
d-v o (o
-ll. — T
I::':Iql. B - i
3.
AN
— — 17 =]
4 [".J'T.T

Question Number : 47 Question Id : 6780944650 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

iy Ddv v+ idr =008

Options :

X
5

1

L

e

Question Number : 48 Question Id : 6780944651 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The differential equation whose solution is 4v~ — B1~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree
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2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780944652 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 T

The general solution of the differential eguation —-4—<=5x=01Is
AT T

Options :

A

V=g cost oy anrle”

L
; . b
o r=ilopcos vt oy SN )T
[ ozs osad T r

N=A0y COs 2oy s T e
3 -

F=iecos 2yt os s Ix)en
& .

Question Number : 50 Question Id : 6780944653 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (=271 =sin 2y is
.
Cors
n

511} o
.

'

—COn

| .0

L

— 511t

|

Plyysies

Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No
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Question Number : 51 Question Id : 6780944654 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of
Options :
1 moment of force

lnear momertum

L J

force

.

[Fressidie

Question Number : 52 Question Id : 6780944655 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+bt® where t is the time. The dimensions of a and b

dle

Options :

1 MLT™ MLT

MLT™ MLT™

1

MLAT ™, ML“T

)

MLZT™. ML

Question Number : 53 Question Id : 6780944656 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + 87 and having a magnifuae of 5 1s

Options :

| 47 + 3}
127 + 187

1

L.

16: +87

oy

S+ Af

Question Number : 54 Question Id : 6780944657 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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1 cos K

cos  (1/K)

L J

sinK

I

sin”*( 1/K)

Question Number : 55 Question Id : 6780944658 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball 1s thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum height reached by the ball 1s

Options :

1 T0 m
. 20m

—

S A0m

.

) 40 m

Question Number : 56 Question Id : 6780944659 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60" with the harizontal with
same velocity simultaneously. Ratio of their horizontal ranges Is

Options :

1 v a2

I_I-II-

2

| 1.2
g 2

L

Question Number : 57 Question Id : 6780944660 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 15 caugnt 2 seconds later by another at some distance

away on the same level. If the angle of projection is 30Y, the velocity of

&
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Options :



19.6 misec
1.

- 9.8 misec

4.9 misec

oy

5.7 misec

Question Number : 58 Question Id : 6780944661 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. IT thera s no flow and he swims with the same

velocity, the time taken to cross the river is

Options :

oW

— e

13

'|

I

2 sec

L

25 sec

L

o —

2o 2 osen

Question Number : 59 Question Id : 6780944662 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional force along the Inclined plane Is

Options :

. 198 N

. 0.98 N
049 N
, 0.245 N

.

Question Number : 60 Question Id : 6780944663 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact is

Options :

0.2

&
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0.4
0.8
0.1

Lt

J

Question Number : 61 Question Id : 6780944664 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Duirng this process, the force on the
cycle due to the road is 200N and 3 directly opposead to the motion. The work

done by the read on the ¢ycle is

Options :

1000 J
- 20004

1

L k!

-1000J

N

- -2000

Question Number : 62 Question Id : 6780944665 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain helght. After 3s, its Kinetic

gnergy Is =10 mr‘si)

Options :

. 5
50

5 K

| A

J

UK

Question Number : 63 Question Id : 6780944666 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 200 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

YWhat would be the minimum power of the motor to be used?

Options :

100 W
500 W

&
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. 980W
300 W

q

Question Number : 64 Question Id : 6780944667 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al t=0, the displacement of a particle In SHM is half its amplitude. lts nitial

phase s (referring to mean position)

Options :
it

6
1.

i_lq__;l‘r'—_-l:

|

e

h..n‘:l

Question Number : 65 Question Id : 6780944668 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendulum is 100 cm. To have a period half of this value,

the length 1s 1o be reduced by

Options :

25 om

]

faem

L of

50 om

R

100 om

Question Number : 66 Question Id : 6780944669 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

| directly proportional to volume

iInversely proportional o sound absorption

_‘
—

&
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poth airectly proportional to voiume

and
inversely proportional to sound absorption

-
l

) depends on temperature

Question Number : 67 Question Id : 6780944670 Display Qucestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon is different from that of a mosauito becalise

Options :
. the sounds have different pitch

they are of gifferent size

L J

the two voices travel with different ve.acifies

N

the soungs have aifferent phases

Question Number : 68 Question Id : 6780944671 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1!
-G

A car s travelling at— m/s and sounds horn of frequency 980 Rz, The

apparent frequency heard by a police chasing the car at LE mis (v IS the velocity

of sound) Is

Options :

1 Y80 Hz
900 Az

L A

100 Hz
, 1000Hz

.

Question Number : 69 Question Id : 6780944672 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internai energy ncre

"
- L
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enfropy of the system increases and internal energy increases

-
.

antropy of the system increases and Internal energy decreases
4,

Question Number : 70 Question Id : 6780944673 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falis from a height of 3 mig=5%.5 mfsz}. Assuming that the
whole energy s converted Intc heat, the amouni of heat produced Is

Options :

1 2 cal

2.7 cal

_4{:3\

s

| 4.2 cal

Question Number : 71 Question Id : 6780944674 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 moles of a ¢das, the change in internal

energy was found to be equal to 100 J. Tne work done during the process will

be egqual to

Options :

1 FA=] L,

. 100
200 J

I

100 J

Question Number : 72 Question Id : 6780944675 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

m—

The pressure and density of a diatomic gas { y =§} change adiabatically from

Pdito(P'dl. If “‘; = 32, then — s
Options :

1 128

v 32
&
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2 A3

.

4, G4

Question Number : 73 Question Id : 6780944676 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

-
|

ISOChoric changes

L

[SOtopIe chahges

Question Number : 74 Question Id : 6780944677 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal is v.. When 2 light of frequency 4 1. Is

" m
2

incident on metal then the K E.. Oof emitted electrons s

Options :

2 u. N
1

3 ‘.1'|_.'-. h

L

Question Number : 75 Question Id : 6780944678 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

superconductors are materials

Options :

y dielectric

. paramaagnetic

ferromagneiic

.

diamagnetic

Chemustey a
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Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780944679 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Paul exclusion prnciple 1s coencerned th

Options :

. Energy of orbital.

opin of electron.

L

Energy of electron

I

Angular momentum of electron

Question Number : 77 Question Id : 6780944680 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Bohr s mode| of hydrogen atom, the following 1s guantized

Options :

1 Lifnear momentum

Linear velocity

L

Anguiar momentum

I

Anguiar velocity

Question Number : 78 Question Id : 6780944681 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicuiar nodal planes

Options :

 Two

Thres

|

Four

L

Flye

Question Number : 79 Question Id : 6780944682 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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n sodium chloride crystal. each Na™ ion is surrounded by

Options :

T O 1ons

Faur O ons

4

Sk G 1ons

e

Eignt ClI jons

Question Number : 80 Question Id : 6780944683 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following moleclis contains a 1 — 2ond

Options :

L

HC

Question Number : 81 Question Id : 6780944684 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vifhich among the following is insoluble in water?

Options :
Alcohol

Ammonia

L

Banzensa

I

Acetone

Question Number : 82 Question Id : 6780944685 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H.50, salution is

Options :
1 U. 46N
.23 N

L

J

. 2.3 N
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, 4.8N

Question Number : 83 Question Id : 6780944686 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of moleciular weignt 40 1s dissolved 1in 250 g of 'vater. Then the
moiality of the solution 1s

Options :
0.4

1.

. 0.8

3 0.2

, 05

Question Number : 84 Question Id : 6780944687 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH vaiue of U.u5M BalOH» solution 1z

Options :

10
12

I A

. 13
11

Question Number : 85 Question Id : 6780944688 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following moleculs is not a Lewis Base?

Options :

e

BF-

L J

NH-

o

L

"e

Question Number : 86 Question Id : 6780944689 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electralysis of brine, 710 g of Cl. was iberated at anode. The weight of NaQH

formed
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800

400 g

L

80 g

o

, 4lg

Question Number : 87 Question Id : 6780944690 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

111 the Dannlel cell, «which electrocds acts as anodge’”

Options :
U

1.

. Ad
iy
Pt

4

Question Number : 88 Question Id : 6780944691 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ s more than that of NaCl because

Options :

. Nall 1s maore polar than K

- NaCl s ionic while HCl 1s covalent

lonic mobility of H™ is more than that of Na©

-
.

H™ get hydrated.

Question Number : 89 Question Id : 6780944692 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrams=

grams ampere

|

- Coulomi

e

Grams per coulomb

Question Number : 90 Question Id : 6780944693 Display Question Number : Yes Single Line Ohmection (Ontfion * No (Intion

Orientation : Vertical
]
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Zeclite softening process removes
Options :

Only permanent hardness of “~ater
1.

Only temporary hardness of water

—

Eoth temporary and permanent hardness of wwater

-.

L

| The dissolvad gases In permansnt hard ater

Question Number : 91 Question Id : 6780944694 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water 15 caused by the presence o
Options :
Eicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates 2f Ca and Mag.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780944695 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatment of water uses to consume wastes in water,

Options :

Fiitration

Sedimertation

L

Chemicals

e

Microorganisms

Question Number : 93 Question Id : 6780944696 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangerous form of corrosion s

Options :
1 salvanic

Fitting

&
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.
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Question Number : 94 Question Id : 6780944697 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWnen Pt and Co are electrically connected, which one gets corroded?

Options :

e
Pt

1.

L

Nore

; both

N

Question Number : 95 Question Id : 6780944698 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Josepn C. Patrick trnad to make antifreeze?

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

IJ

| Thioksl

Question Number : 96 Question Id : 6780944699 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was callec

Options :

| Bakelte

INyion

L

Dacron

L

" Cellulose

Question Number : 97 Question Id : 6780944700 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile finer that is wrinkie resistant and strong

&
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ellulose

Dacron

L

Eakelte

J

Nvion

Question Number : 98 Question Id : 6780944701 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixture of

Options :

1 H-. + CO
NE-]' (o5

L !

Hg -+ GDE

J

H-+ CHqy

Question Number : 99 Question Id : 6780944702 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vilhich of the following 12 not a greennouses gasy

Options :

IGE}

COx

L

|

wWaler vapour

)

H4

Question Number : 100 Question Id : 6780944703 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fuels causes
Options :

Giobal warming
1

Czone depletion

L

- Acid rain

L

Eutrophication
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Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780944704 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The matenal whnich exhibiis same e'astic sroverties In al Jirections is callad
Options :

[ Isotropic

~ Orthatropic

LA

HOMAgenaous

L

Flastic

Question Number : 102 Question Id : 6780944705 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The type of fallure of a material after number of cycles of repeated |oad iz
Options :

| Erittie failure

| Ductile fallure

L

- Fatigue failure

L

impact failure

Question Number : 103 Question Id : 6780944706 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a member subjected 1o tensile lead, the strain in longitudinal girection is 0.2% and the strain
n lateral direction 1z 0.05. The Poisson ¢ ratio of the material Is

Options :

. 0.0125

- 0.02
0.20

5

L f

e

Question Number : 104 Question Id : 6780944707 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The modulus of rigidity 1s defined as the ratio of

Options :
1 Lateral strain to longitudinal strain

&
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- Compressive stress to compressive strain

Tenslle stress to tensie stram

L

Shear stress to shear stran

Question Number : 105 Question Id : 6780944708 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The change In elongation of a kar aue 1o 8z 2sifweight 5

Options :

1 proportional to length

proportionai to square of leng:h

L J

inversely proportional to lengin

L

nversely proportional to squarse of engsl

Question Number : 106 Question Id : 6780944709 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

if the load P s applied suddenly an the body having cross sectional area 4 . length L and
modllus of elasticity £ . then the maximum stress incduced in the body I8

Options :

F

1 4

-1

A A

el

—

AL

oy

2PI

r

PR 7

Question Number : 107 Question Id : 6780944710 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A prismatic beam ABC i3 simply supportad at points A and B spaced & m apart and has an

overhang BU of 2 m. A uniformly distributed load of 20 KN/m acting over the entire length AC
and a concantrated load of 20 kN acting at . The khending moment at support B 15

Options :

| U
-~ 120 KNm

&
@collegedunlas
India’s largest Student Review Platform

i



140 kNm
, 150 kNm

Question Number : 108 Question Id : 6780944711 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

A cantilever beam of span L 15 subjected 10 concentrated [oad 1T at the free end. VWhich of the
folloving 15 correct?
Options :

z=ro B at free end and zerc SF at the free and

maxirum B at free end and maxiniurs SF at the free end

L

zaro BM at fixed end and zero Sr at the fixed end

I

maximum BW at fixed end ard maximun SF at fixed end.

Question Number : 109 Question Id : 6780944712 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A simply suppaorted beam of span L 13 subjected to a uniformly distributed load of w./m over
left half of the span. The bending moment at mid span 1s

Options :
1L
[

1|'ﬂ:
o

L

v
1

e

Zeb0

Question Number : 110 Question Id : 6780944713 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a simply supported beam. the maximum Rending moment occurs at a point where

Options :
1 the load s maximum

~ the load changes sign

-

the shear fTorce 1s maximnum

N

the shear force changes sign
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Question Number : 111 Question Id : 6780944714 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a beam of uniform cross section 1s suiyected to a uniform bend:ing moment throughaout, then
the deflecied shape of the beam Is 3

Options :

1 parahola

cubic parapola

|

lInear

!_-.-

circular arc

Question Number : 112 Question Id : 6780944715 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al the neutral axis of a loaded heam of rectangular s2ction

Options :

1 bending stress s zero and shear stress 2 naximun

pending stress Is zero and shear stress Is Zero

L f

bending stress s maximum and shear stress s maximum

N

bending stress 1s maximum and shear siress i3 zerc

Question Number : 113 Question Id : 6780944716 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

in asimply supported beam of rectangular cross section 100 mm=200 mm. the bending stress
s limited to 12 Nimm*. The moment of resistance of the beam is

Options :

4 KNm

]

8 kiNm

. 12 KINm
jEkNm

L J

Question Number : 114 Question Id : 6780944717 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of curvature of the beam with usual notations is egual to

Options :
b

!

A

ogrees

i
&
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ram
i

A
M

L

Question Number : 115 Question Id : 6780944718 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of maximum shear stress t¢ avarage snear siress In & peam of circular cross section
S

Options :

[
L.

P

1.5
, 172

Lk

I

Question Number : 116 Question Id : 6780944719 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A beam of rectangular section 100 7m wide and Z00 mm deep carries a shear force of 400
kM. The maximum shear stress In the bheam 13

Options :

20N/ A IE

. 30 Nimm?

33 Nfmms*

N

A0 Nimm©

Question Number : 117 Question Id : 6780944720 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a beam subjected to transverse shear force, the shear stress In the upper fibre il be

Options :

| ra-lie

sliallasiEbny

LJ

uErdnitn

e

depends on the data

Question Number : 118 Question Id : 6780944721 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Vi'hen a shaft ts subjected to pure twisting, the type of stress developad In the shaft is

Options :
1 Axial stress

Shear stress

L

Moarmal stress

!_-.-

Hending siress

Question Number : 119 Question Id : 6780944722 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Folar moment of inertia of a so:id creliar shaft is

Options :

1 tatce the area of cross section

four times ithe area of cross section

L

teiice the moment of inartis

L

four times the moment of ineria

Question Number : 120 Question Id : 6780944723 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solid circalar shaft of length £ and diameter D with modulus of rigidity <& and polar moment
of inertia J1s subyectad to a torque 7. The angie of twist #1s

Options :
Pl
g=—"
G
I

e
N i
g =t
3 rd
{rl
&= T
4 e

Question Number : 121 Question 1d : 6780944724 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A simply supported beam of span L s subjected to uniform
throughout the span. The slope of the support is

Y distributed [oad of 1rim

&
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vif "
laET

Wi
16ES

L

b

14
24T

L

1|'j'::
R

Question Number : 122 Question Id : 6780944725 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

It the depth of a bheam I= doubled, the maximum deflection for a given loading will be
Options :
[ halved

. doubied

recced vy 4 times

e

recuced by 3 times

Question Number : 123 Question Id : 6780944726 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cantliaver beain I3 sUbjected to a uniformly distributed lcad of « per m throughout. If the
ceflaction and slope at the free end are 15 mm andg 0.01 racians respectively. then the length
of the beam s

Options :

1_1.5m

lem

| 2.0 m
2.0 m

R

Question Number : 124 Question Id : 6780944727 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A simply supported beam of length £ carries a central concentrated [oad T, Ancther heam B
5 [oaded with a uniformly distributed [oad such that the total load on the neam s 177, The ratio
of maximurm deflections between heam Ato B Is

Options :

&
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L2
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Lo

=
1

Question Number : 125 Question Id : 6780944728 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a deflected beam, the differential equation is

Options :
1
Fril o —ar
| ITAN
l:'F!'r-
Erl — —af
. (i
|
M —— = ET
. i
.
774
if e FY
LAY
1

Question Number : 126 Question Id : 6780944729 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A fixed beam of length L and flexural rigidity £1 Is subjected to a uniformly distributed
load of wper m throughout the span. The maximum detlection in the beam Is

Options :
1
A4S ET

L

L
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Question Number : 127 Question Id : 6780944730 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

A propped cantilever AB of span £ 1s fixed at A and propped at B s subjected {o a
dniformly  aistributed load of w per m througnout. The reaction of the prop Is

Options :

T4

L

I

Question Number : 128 Question Id : 6780944731 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In & fixed beam, at the fixeg ends

Options :
1 hoth slope and deflection are zero

siope s zero and aeflection 1S maximum

L J

siche 18 maximum and geflection is zero

L

both slope anag deflection are maximum

Question Number : 129 Question Id : 6780944732 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A column of length £ and flexural rigidity E7 s fixed at one end and free at the other
end. The Eulers crippling load I1s

Options :

|
¥

&
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27"
o Ef
g AF

Question Number : 130 Question Id : 6780944733 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of effective length of coluin 1o Bs [2ast radius ¢of Zyration s knowh as

Options :

saction mocdulus
1

slenderness ratio

L

crippling factor

suckling factor

Question Number : 131 Question 1d : 6780944734 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The effective length of column fixed at both ends s equal to

Options :

L L

L
=

L

Question Number : 132 Question Id : 6780944735 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A column that falls primarnly due to buckling s known as a

Options :

1 sPort column

medium column

-
1

long column

L

wagk column

Question Number : 133 Question Id : 6780944736 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Rankine's formuila holgs good for

Options :
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1 short columns only

long celumns only

L

hoth short ang long columns

L

waak columns

Question Number : 134 Question Id : 6780944737 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The racius of gyration of solid square column of siisad s

Options :
{1
2
1
¢/

=

L

L

Question Number : 135 Question Id : 6780944738 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the tuler load for a steel column 18 800 kN and crushing load 1s 1000 kN, the
Rankine s load i1 equal 1o

Options :

375 kN
. 600 kN

1000 kN
, 1600 kN

N

Question Number : 136 Question Id : 6780944739 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a masonry dam of base width . at which location the resultant force should strike
the base s¢ as to avold tension anywhere in the section’”

Options :

rricicte fourth
micale thirdg

q.

1.

&
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at the {oe

..
.

, at the heel

Question Number : 137 Question Id : 6780944740 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

f & 13 the angle of internal fricticn of the soll. then Kankine s formula for active earth
oressule coefficient Is

Options :
R ESIVET,
| l—smg
] — =113 ¢
o l+sm
L+ sit1” ¢
ﬁ 1 —sin- o
E
1—sin” ¢
. L +sm ¢

Question Number : 138 Question Id : 6780944741 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The forces In the members of the statically determinate pin jointed trusses can bhe
obtained by

Options :
Eular = method

| Fankine s method

L f

. Moment area method

.

ethod of joints

Question Number : 139 Question Id : 6780944742 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a pin jointed determinate truss. If o713 number of members, ;s number of joints and
s number of reaction components, which of the following relation holds good?

Options :

T =27

L=l 2
i e

-
.

&
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g =2

Question Number : 140 Question I1d : 6780944743 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of joint equiitzrium eguations available for the anal/sis of pin jointed plane
trusses |s

Options :

O
|

L

Lo

Question Number : 141 Question Id : 6780944744 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

M 20 grade of concreie indicates a compressive strandgtn of 20 LPa by testing

Options :

1 100 mim cubkes at 28 days

150 mm diameter cylinders at 258 days

L J

150 mm cubes at 22 days

Lo

100 mm diameter cylinders at 22 days

Question Number : 142 Question Id : 6780944745 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fiexural tensile strength of M 25 grace concrete is

Options :

- Lo MPa

2.5 MPa
3.5 MPa

Lt

e

2.0 MFa

Question Number : 143 Question Id : 6780944746 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 [imit state design of concrete structures, the strain distribution s assumed 1o be

Options :

| Linear

- Rectanguiar

-
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] Farabolic

.

; Hyperiolic

Question Number : 144 Question Id : 6780944747 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f 7. is the characteristic compressive strength of concrete and ois the standard
deviation, then the mean target strength ¢ 12 given iy

Options :

f = f —0.65T

CR « LhH
1

e,

= J . U0

I=1,-1065a

I

f=f +163c

Question Number : 145 Question Id : 6780944748 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

The maximum permissible area of steegl reinforcement In rainforced concrate beams Is

Options :

1 4% of effective cross secticnal ares

Yo of gross cross sectional area

L

5% of gross cross sectional area

N

U.12% of gross cross seciional area

Question Number : 146 Question Id : 6780944749 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f any tension reinforcement in a heam reaches its yield stress during loading before the
concrete in the compression zone fails due to crushing. the beam 15 sald to be

Options :

: Halanced

Unicdler reinforced

-
1

~over reinforced

L

Non homogenesus

Question Number : 147 Question 1d : 6780944750 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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The eftective tlange width of T beams spaced at 3.2 m over 15.0 m span ~th 100 mimn
thick flange and 300 mm wide web 15

Options :

1 2,90 m

325m

340 m
4 250 m

L

J

Question Number : 148 Question Id : 6780944751 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The partial safety factor for stes| is

Options :

1.0
. 1.15

;1.5
. 1.85

Question Number : 149 Question 1d : 6780944752 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum shear reinforcement provided for reinforced concrete rectangular beams as per

15 456-2000, is

Options :
4 04
bS,  0.87f,

1. |
4. 0.4
hS 08T
A, D4
bs,  f

3. h ik
L 0.46
hs. f

4

Question Number : 150 Question Id : 6780944753 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Maximurm spacing of vertical shear reintorcement measured along the axis of the

rainforced concrate beam shall not excean
@collegedunias
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1 b Sef or 300 mim

LS e or 250 mm

LA

.75 or 300 mim

!_-.-

.75 S oF 250 mm

Question Number : 151 Question Id : 6780944754 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

N & cantilever slab, main reinforcement |s placed &

Options :

1 top of the slab

the neutral axs

| .

- bottom of the slab

s

celow the dgistribution steel

Question Number : 152 Question 1d : 6780944755 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

For a rectangular siab corner continuous on all four sides. the amount of torsion
reinforcemeant reduired to be provided |5

Options :

| )%

27.5% of main stee| reinforcement

L

50%, of main steel reinforcement

L

8% of man steel reinforcement

Question Number : 153 Question Id : 6780944756 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The RCC columns are designed for a minimum eccentricity of

Options :
[ 5 mm

 10mm

20mim

e

25T
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Question Number : 154 Question Id : 6780944757 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the design of simply supported RCC beams. the maximum value of span to effective
depth ratio is

Options :

1.?

20

-'

25

I

40

Question Number : 155 Question Id : 6780944758 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The load carrying capacity of a nelicaly reinforesc! calumn as compared 1o that of a
caelumn with lateral ties 1s

Options :

1 5% |ess

10% less

10% more

L

L% more

Question Number : 156 Question Id : 6780944759 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to [9:456-2000, the ultimate [oad carrying capacity of the column s

Options :

By =04 fd +0.67 fdy,

P =0df,d +0.757, A

Sl L

Fo=0af, 4 +0.677F 4

4L

L

i |

P =0df, 4 +0.87F 4.

Question Number : 157 Question Id : 6780944760 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A reinforced cement concrete column is considered as iong. If the ratio of the effective
length of column o its least lateral dimension excesds

Options :

3
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(¥

L

s 1%

Question Number : 158 Question Id : 6780944761 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The thickness of focting af the edge shnolid not e 233 than

Options :

100 rrim

1
150 mm

I 2

200 mim

.

Za0 mm

Question Number : 159 Question Id : 6780944762 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Genearally, the overall depth of the focting Is governad by
Options :

| bending moment

oche way shear

—
[ |

twQ way shear

)

1.9 times bending moment

Question Number : 160 Question Id : 6780944763 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The minimum ¢lear cover for footings as per [5: 466-2000 Is

Options :

1 25 mm

40 mm

|

S0

!_-.-

FE=Raninn

Question Number : 161 Question Id : 6780944764 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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1 chaln

Invar {ape

L

Tacheometry

oy

=DM

Question Number : 162 Question Id : 6780944765 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following 1s an obstacle to cnaining but not to ranging’y

Options :
Hill
1.

~ Ground

| Fiver

o

Bullding

Question Number : 163 Question Id : 6780944766 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The fore hearings of the sides of a triangle AE. BC and CA are 407, 1607 and 2580°
respectively. The triangle Is

Options :

1 right angled

an eqLilateral

|

AN IS0SCeies

I

an obtuse angled

Question Number : 164 Question Id : 6780944767 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The true bearing of a line is 5 29720 E. If the declination is &°a0 E, then the magnetic
pearing is

Options :

o310 E
o 19740 E
NS0 WY

I

N

4 N 187400 WY
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Question Number : 165 Question Id : 6780944768 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the wheole circle bearing of 2 Iine AE 12 153, then the back hearing of the line in
quadrantal system is

Options :

1 > 307 E
R O

N 307 E

L

N30T W

Question Number : 166 Question Id : 6780944769 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The obzerved bearings of a traverse ars given below

Fore | Back
Line
Bsaring | Eearing

AB 45°30" | 225730

BC | 110730 | 290715°

CD | 20271 | 22730

DE | 320748 | 140°45

The station most likely to he affected by the [ocal attraction 1s

Options :

A
=

-’

I

4 B

Question Number : 167 Question Id : 6780944770 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process of turmning the telescope of a theodolie in herizontal plans 15 called

Options :

| Transiting

&
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owinging

|

Flunging

b

Reversing

Question Number : 168 Question Id : 6780944771 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The latitude of a line 1s +100 m anad aeparture 1g <100 m, The reduced bearing of a line
S

Options :

1 N 457 VY

. N45°E

o457 Wy

]

4o E

Question Number : 169 Question Id : 6780944772 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The following observations weare from raciprocal levelling

Staff reading at station
Instrument at

- =
& 1.450 1.695
= 0.600 J.220

Vishich of the following 1s correct’

Options :

1 Foint A 1 higher than point B

- Paint A s lower than point B

-

Foint A and point B are at same elevation

L

the given data s insufficient,

Question Number : 170 Question Id : 6780944773 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A leveling station 1s a piace wherea

Options :
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1 the level 1s s2t up

| The |level staff 1s held

L

oth BS and FS are taken

L

Fermanent agjustmznts are done

Question Number : 171 Question Id : 6780944774 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a simple circular curve of razius & | the deflection angle bhetween the tangents Is
50°. The length of tangent Is

Options :

| Bain 30

Rein 6OV

L

Aoran s Ei"D

!_-.-

KA 6{}'}

Question Number : 172 Question Id : 6780944775 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The constant verical distance between two adiacent contours is knowmn as

Options :
1 Horizontal equivalent

Horizontal interval

L

Vertical equivaient

L

Contour interval

Question Number : 173 Question Id : 6780944776 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Planimeter is used for measuring

Options :

| Volume

Area

L

siope angle

L

cortolr gradient
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Question Number : 174 Question Id : 6780944777 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vithich of the following cannot be achievad by remote sensing

Options :

Datection of forest fires
1

Lratection of pollutants

'I

Frevention of earth quakes

L

Land uze pattern

Question Number : 175 Question Id : 6780944778 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The position of a point can be located In GPE on recelving signa:s from at least
Options :

1 1 zatellite

_ 2 satellites

2 satelltes

L

d =atelltes

Question Number : 176 Question Id : 6780944779 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The property of a liquia by virtue of which the molecules of the liguid remain attached to
each otheris

Options :

. Adhesion

| Cohesion

L f

Capillarty

.

—Urface tension

Question Number : 177 Question Id : 6780944780 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A differential manometer measures
Options :

1 apsolute pressure at a point

lacal atmospheric pressure

L .

cifference In pressure betveen two points

&
@collegedunlas
India’s largest Student Review Platform

i



. difference in total enargy between twio points

Question Number : 178 Question 1d : 6780944781 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The flow of a liquid at a constant rate in a conically tapered pipe is classified as

Options :

| steady uniform How

unsteacty uniform flow

LA

unsteady, non uniform flow

L

steacly, nan uniform flow

Question Number : 179 Question Id : 6780944782 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of continuity of flew is based on the principle of the conservation of

Options :

1 Tigdss

~force

—

WOk

o
.

e n i

Question Number : 180 Question Id : 6780944783 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the opening of valve, the flow iz

Options :
1 laminar

Unsteady

L 0

Lt orm

!_-.-

rotationas

Question Number : 181 Question Id : 6780944784 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f a venturimeter s Inclined from norizontal position, its reading

Options :

| rcregases

. fecreasas

" rernalns the same

; changes
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Question Number : 182 Question Id : 6780944785 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For flow through an onfice, the coefficient of discharge { C, ). the coefficient of
velocity { O ) and the coefficient of contraction ( O, | are related as

Options :

1. l::qﬂ' — {' E_'!i‘r_'

-8 {:_1-:1: — {_11 .I!'-‘_ L

G =C.C,
L. =" L

4 2o

Question Number : 183 Question Id : 6780944786 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the error In reading tne heac over a rectanguiar =2%ch 1s 1% |, the resulting error In
computed discharge is

Options :

1%

. 1.5%
2.0%
2.5%

3

Question Number : 184 Question Id : 6780944787 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhen pipes are attached end to end in series, then the

Options :

1 discharge 1 same In all the pipes

head loss i same In all the pipes

Lk

friction losses are reduced

.

velocity of flow 1s same 1n all the pipes

Question Number : 185 Question Id : 6780944788 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Darcy s equation for trictional losses 15 expressed as

Options :

L ALT
Mo —

ol)
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Question Number : 186 Question Id : 6780944789 Display Quecstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a fluld between two parallel prates. the velocity s

Options :

uniform under steady state conciitions
1.

o condons

Urtiform under turbulent 1

|

maximLim at the mid depth of flow

L

maximum at the plate bolundaries

Question Number : 187 Question Id : 6780944790 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a veniurimeter, the divergent cone 18

Options :

1 shorter than the converging cone

longer than the converging cone

L

aqual In length to the converging cone

L

depending on the flowing fluid

Question Number : 188 Question Id : 6780944791 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The discharge through a trapezoidal channegl 1s maximum when

Options :

1 top width = half of sloping side

top width = 1.5 times sloping side

| A

sloping side = half of top width

!_-.-

sloping side = top width
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Question Number : 189 Question Id : 6780944792 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A rectangular lined channel of width 5 m s used o carry water., The maximum
discharge occurs when the depth of flow 1s

Options :

1 2.5 m

Co2.0m

-

1.87 m

N

125 m

Question Number : 190 Question Id : 6780944793 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A turbing 1s a device which converts
Options :

Hyddraulic energy io Mechanical energy
1. ‘

. Hydraulic energy to Electrical energy

Electrical energy to Mechanizal energy

!—'J

Vechanical enargy to Hydraulic energy

Question Number : 191 Question 1d : 6780944794 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The base pericd of the crop s 100 days and duty of the canal is 1000 hectares per
cumec. The depth of water wili be

Options :

(1 3ed om

1
=2.64 om

| A

| 26.4 om
2E4 om

H

Question Number : 192 Question 1d : 6780944795 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Kharlf season Is generally extends from

Options :

1 January-Juiy

. March-August
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- Dctober-March

: June-Octobear

Question Number : 193 Question Id : 6780944796 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

VWater stored in the reservoir below the minimum pool level s called

Options :
Bank storage

Yalley storage

sUrcharge storage

)

Lead storage

Question Number : 194 Question Id : 6780944797 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The under sluices In diversicn head works are provided (o

Options :

control silt entry Into the channsl
1.

avold paralle! flow to the weir

srevent hiydraulic |umig

I

crevent fish flow

Question Number : 195 Question Id : 6780944798 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The accurate estimate of average rainfall i a particular catchment area can Le
obtained oy

Options :

1 Arithimetic mean method

Thiessen polygon method

L J

'sohyetal method

L

Naormal ratio method

Question Number : 196 Question Id : 6780944799 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Options :

| arectangle

a trapezoldal

—
|

an equilateral triangle

I

a right angled triangle

Question Number : 197 Question Id : 6780944800 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The net free board 1=
Options :
differance of level betwveen Maximurm Water Level (WYL and Full Reservolr Level
1 (FHEL]}
~difference of [evel betveen ths top of dam and lMaximum Water Level (MWL)

y

difference of level bet.veen the top of dam and Full Reservolr Level (FRL)

.

differance between the top of dam and bed level

Question Number : 198 Question Id : 6780944801 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The channel where silting and scouring needs 1o special attention 13 called as

Options :
1 Super passage

.Huﬂerchanne\

L d

| Critical flow channel

N

Regime channei

Question Number : 199 Question Id : 6780944802 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Accoraing to Lacy s theory, the wetted perimeisr £ s related to the discharge (as

Options :
4750

AT

<

-

=
=1
I'-J.
ot

Lo
F

—
-1
g
|I ™
"-....'

1

Question Number : 200 Question Id : 6780944803 Display Question Number : Yes Single Line

Orientation : Vertical ’
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anal lining s esseniial to
Options :

minimize water [osssas
.
mintmize silting

-

release water

. J

store water

L
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